AL110 - Algebra1-A.A.2015/2016
Appello C (Giugno 2016)
Esito

Identificativo 497299: Insufficiente
Es. 1: punti 5.5 (2, 3, 0.5); Es. 2: punti 0; Es.3: punti 0.5 (0, 0, 0.5, 0);
Es .4: punti 2 (0, 0, 2); Es. 5: punti 1.5 (1.5, 0); Es. 6: punti 1.5

Identificativo 500994: Voto proposto 18

Es. 1: punti 5.5 (2.5, 2, 1.5); Es.2:punti 3 (0, 1.5, 1.5, 0, 0); Es.3: punti 6.5 (1, 3,
0.5, 2);

Es.4: punti 0; Es.5: punti 1.5 (1.5, 0); Es. 6: punti 2

Identificativo 449588: Insufficiente
Es. 1: punti 4.5 (1.5, 2.5, 0.5); Es. 2: punti 0; Es.3: punti 0;
Es .4: punti 0; Es. 5: punti 1.5 (1.5, 0); Es. 6: punti 3



